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1. Product of HCF and LCM = _____ of the two numbers.

a) difference b) sum c) product d) none of these.

2. The product of two numbers is 625 and the LCM is 25 . Find the HCF.

a) 25 b) 18   c) 17 d) none of these.

3. The product of two coprime number is 117, then what is their LCM ?

a) 130 b) 112   c) 117 d) 145

4. The product of the HCF and LCM of two numbers is 1280. If one number is 32. Find 
the other number.

a) 40 b) 35 c) 19 d) none of these.

5. The LCM of two numbers is 120, which of the following cannot be the HCF ?

a) 8 b) 12 c) 24 d) 35

6. The product of two numbers is 216, if the HCF is 6. Find their LCM .

a) 10   b) 36 c) 19 d) none of these.

7. The LCM of two numbers is 864 and their HCF is 144. If one of the number is 288, 
then find the other number.

a) 214 b) 435   c) 432 d) none of these.

8. Find the LCM if the product of the two numbers is 2025 and their HCF is 15.

a) 110   b) 145 c) 135 d) none of these.

9. The HCF and LCM of two numbers are 8 and 48 resoectively. If one of the numbers is 
24, then find the other number.

a) 10   b) 17 c) 16 d) none of these.

10. The HCF of a group of numbers is always a ____ of their LCM.

a) difference b) sum c) factor d) none of these .
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11. The LCM of two co primes is their ______.

a) quotient b) product c) sum d) none of these .

12. The HCF of two co primes is ____.

a) 0 b) 2 c) 1 d) 4

13. The HCF of two numbers is 8, which of the following cannot be the LCM ? 

a) 48   b) 56   c) 24   d) 60

14. The LCM and HCF of two numbers are 4125 and 25 respectively. One number is 375, 
by how much the second number is less than the first ?

a) 100 b) 50 c) 26   d) none of these.

15. The HCF of two numbers is 3 and the LCM is 90. If one number is 18, find the other 
number.

a) 15 b) 20 c) 16 d) none of these.
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